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B.Ed. (First Year) EXAMINATION
(For Batch 2017 & Onwards)

ASSESSMENT FOR LEARNING

Course-IV

Time : Three Hours Maximum Marks - 80

Note : Attempt F’ ive questions in all, selecting one

question from each Unit. Q. No. 11s

compulsory.
~ (Compulsory Question)

1. Write short notes on the following :

(a) Principles of Assessment 4
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(b)

Importance of - Commutative Record

Card 4
(c) Diagnostic Test . 4

(d) Importance of Statistics in Assessment. 4
Unit I

2. What do you mean by ‘Evaluation’ ? Explain
the differenCe betyveen Formative and

Summative evaluation with suitable examples.

4+12=16

3. What is ‘Continuous Comprehensive
Evaluation’ ? Explain its importance with

suitable examples. 4+12=16
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Unit 11

4. What are the tools of evaluation 9 Describe

the merits and demetits of the ‘Rating Scale’.
4+12=16

5. What is the ‘Achievement Test’ ? Prepare the.

blueprint of the achievement by choosing an '

appropriate example. 4+12=16

Unit T

6. What is ‘Semester System 9 Explain its ments

and dements with suitable exanmles
4+12=16

What are the ICT tools used 1n examination ?

Explain any iwo ICT tools in detail.
4+12=16
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Unit IV

8. How do You measure Central Tendency ?

Calculate the ' mean, mode and median of the

following disribution : ‘ 4+12=16
Marks Frequency
10-25 . i N0
25-40 . 20
40-55‘ e 0y
570, | 26
70-85 03.
85-100 01

9. What do you mean by ‘Normal Probability
Curve’ ? Discuss its characterist_ics with suitable

examples. 4+12=16
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